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Example Candidate Responses — Paper 3

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Computer Science 9618, and to show how different levels of candidates’ performance (high, middle and low) relate to
the subject’s curriculum and assessment objectives.

In this booklet candidate responses have been chosen from the June 2021 exam series to exemplify a range of
answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions, mark schemes and inserts used here are available to download from the School Support Hub. These
files are:

9618 June 2021 Question Paper 32

9618 June 2021 Mark Scheme 32

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 3

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the Examiner comments.

Example Candidate Response - high Examiner comments
2 (a) Describe the purpose of a user-defined data type. o o The candidate correctly
.émﬂ..&&@&....m—&g&.,..ba,..msm....uﬁf\.x\a....&ﬂc&t..hy&k&:k.\r&.&w’*& ........... identifies that the new data type
BPES. 00330, Lt oAb darn A @RS 40 DA T B uses existing data types.
pfa.c&,nm.‘.&....ngea.s....ma...u:ms.g,....9 S @ The candidate correctly

identifies that user-defined data
types extend the flexibility of the

: programming language to suit their
(b) Define, using pseudocode, the following enumerated data types: needs

(i) Schoolbay to hold data about the days students are usually in school.

¢ _ Mark for (a) = 2 out of 2
v.&.ﬁ/‘\f.‘.ﬂQ\.Di}sa.......m(!v.\d%%.ljme.&do.%.vwgd!.\&s\a\&.,..\hur&&c Feldo ).
O i noE i NMark for (b)) =0 At of 1

Examiner comments are
alongside the answers. These
explain where and why marks
were awarded. This helps you
to interpret the standard of
Cambridge exams so you can
help your learners to refine
their exam technique.

Answers are by real candidates in exam conditions.
These show you the types of answers for each level.
Discuss and analyse the answers with your learners in
the classroom to improve their skills.

How the candidate could have improved their answer
¢ (a) The candidate could have specifically explained that this would extend the flexibility of the programming
language, rather than just referring to their program’s needs.

e (b)(i) and (b)(ii) The candidate needed to use the word TYPE rather than DECLARE when they defined both the
data types.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

* (c), (b)(i) and (b)(ii) Many candidates used DECLARE instead of TYPE.
¢ (d) Some candidates missed out DECLARE.
* (c) Some candidates used the same identifier for the declaration as they did for the TYPE in (b)(i) and (b)(ii).

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.




Example Candidate Responses — Paper 3

Question 1

Example Candidate Response — high Examiner comments

1 Real numbers are stored in a computer system using floating-point représéntation with:
10 bits for the mantissa
6 bits for the exponent . X ‘
*  Two's complement form for both the mantissa-and the éxponent.

(a) Calculate the normalised floating-point representation of —7.25 in this system.
Show your working. ’

Mantissa Exponent .

DToloToliT Tolelolo] [olololol (i | @

36z L0 Z DL IO, 2l

Working'.

Dot 000 00004
L S....omfls k. LOOOLOLLLL '
for04. comps..10.00.1.10000

. . 8
(b) Calculate the denary value of the given binary floating-point number.
Show your working.
Mantissa ) Exponent:
[l fofofo e [aTo] [ofofofa o 4]
Working ool 0890002 2 F o 0000052
1041000110
128449455728 M
Answer - . . reeeteeree et sanenaa e
) B3]

o The candidate is awarded one
mark for the correct answer.

9 The candidate calculates the
exponent.

e The candidate finds the two’s
complement of the mantissa.

Mark for (a) = 3 out of 3

The candidate calculates the
denary value of the exponent.

@ The candidate moves the binary
point of the value stored in the
mantissa by the number of places
given in the exponent.

@ The candidate is awarded one
mark for showing the correct answer
including the sign.

Mark for (b) = 3 out of 3
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Example Candidate Response - high, continued Examiner comments

(c) The given binary floating-point number is not.normalised.

Normalise the floating-point number. Show your working..

‘ Hantissa Exponent The candidate correctly
\o|0_|o|o|'o|9|o|1 o o] [tlofola[a]n] calculates the exponent.
Mantissa Exponent @ The candidate correctly
u l ‘ I l I ( |0‘ 0! 'O,Y_|N75. | DM lﬂ(._|,01 I .0:.:| 0_]:(?'1 '“| o calculates the mantissa.
‘ e The candidate correctly
Working ... 00:0.0.00. 0. LEL2 R e LOILHL 2232 42,505 calculates that the exponent should
0.1.11.000000 2202 Ut ¥ X MRt 9 move the point six places left.
Mark for (c) = 3 out of 3
0.0.L1:0.0000:0 1:0.0.90.1

131

(d) The denary number 513 cannot be stored accurately as a normaliséd floatihg-point number in
this computer system.

(i) Explain the reason for this.

AT [.0.00.9.9.000! @ The candidate correctly
v 00000000000 5" converts 513 to binary.
lo. sbe..cl ... miw..... B mMﬁa Indedid... m The candidate correctly
...t bt maM/M ot b ﬁe/bﬁ/u/ %M m identifies that 11 bits are needed to
wtll e m,zuﬂﬂw @ _ ‘ _ store the mantissa.
: 131 @ The candidate correctly

(ii) Describe an alteration fo the way floating-point numbers are stored to enablé this iumber identifies that there will be overflow.

to be stored accurately using the same total number of bits.

Mumben o{ vt Qs ”0% MM/!MA MMM@( .......... Mark for (d)(i) = 3 out of 3
®_ huntand Qq At ML} MM&A%&Z/M ......... @ The candidate correctly
Wywm)uf identifies that the mantissa requires
more bits.

121

Mark for (d)(ii) = 1 out of 2

Total mark awarded =
13 out of 14

How the candidate could have improved their answer

¢ (a) The candidate gave correct answers to the floating-point conversions from denary to binary and vice versa, but
their working for the answers could have been more clearly annotated in places.

¢ (b) The candidate needed to write their answer to (b) in the space provided.

¢ (c) The candidate could have shown the point being moved six places left.

e (d)(ii) The candidate provided a general description of the alteration required to store the number accurately using
the same number of bits, but they could have applied this to the situation described in the question. For example,
the number of bits in the mantissa needed to be increased to 11 and the number of bits in the exponent needed to
be decreased to 5.



Example Candidate Response — middle

Example Candidate Responses — Paper 3

Examiner comments

1 Real numbers are stored in a computer system using floating-point representation with:
* 10 bits-for the mantissa
* 6 bits for the exponent .
*  Two's complement form for both the mantissa and the.exponent.

(a) Calculate the normalised floating-point representation of —7.25 in this system.
Show your working.

Mantissa o

[leTelolV[i e[ 4[] [elololel 1]

Exponent

A.22..0M8

“ 35 = oW .ol e

=S = \cool

3 .
.................. ©...c0nux7

SHOONRNE T3 ereveerreenerannes

Working o:25.22.0\

[31

(b) Calculate the denary value of the given binary floating-point number.

Show your working.
Mantissa Exponent

KR ENEN X EN N ENENEN S CN CO R ENERER

Working ... €xpeneay =¥ AL =R o odeslest xa. o

koo 2 LK S RRATIINT-RA-A)

= Z 22302 RA 60028 e
=S =S

Answer ........T ?8-2.&'..6- , e s s

B3t

o The candidate incorrectly copies
the value for the mantissa.

@ The candidate correctly
converts +7.25 to binary.

@ The candidate correctly
calculates the exponent.

Mark for (a) = 2 out of 3

The candidate converts the
binary for the exponent to denary.

The candidate moves the binary
point in the mantissa then converts
the binary to denary.

@ The candidate writes the correct
answer.

Mark for (b) = 3 out of 3
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Examiner comments

Example Candidate Response — middle, continued

(c) The given binary floating-point number is not normalised.

Normalise the floating-point number. Show your working.

Mantissa Exponent
o fofoJoJofofo s efe] [+]ofofr]s]t]
Mantissa Exponent

e The candidate completes the
mantissa correctly, but completes
the exponent incorrectly with a
positive value.

[eliTi T Tofefolofefo ] [ofi W[ ]1T1]

Working ... &8 eeo TR, e T SANS e

......... %

-5
£L0.0.20000MK..2 e

Fz.o\laolz-28.

(XY 2

¢ oy

3\
© O 00LRLOAADOOORAC.OA0.L00.00.000000R .. A2
................... expaneksa).5. 0L M G .

@ The candidate shows their
working which shows the incorrect
movement of the binary point with a

131

(d) The denary number 513 cannot be stored accurately as a normalised floating-point number in
this computer system. .

(i) Explain the reason for this.

- .r.\cz-.\:,.._enoua,,_.,\,;«ﬁ Cor.. e . nanhissSe. 0
~ wahen. umbec. of oS, e, mantitse. lnceaSeS. L acemnn S

2k M. vnareaSes

mantissa that is not normalised.

Mark for (c) = 1 out of 3

@ The candidate outlines the
problem without applying it to 513.

Mark for (d)(i) = 1 out of 3

= OAUSL nseese.nambaes.. o Bs. e ManBES S s

31

(ii) Describe an alteration to the way floating-point numbers are stored to eénable this number
to be stored accurately using the same total number of bits.

@ The candidate correctly
identifies that the number of bits in
the mantissa must increase.

Mark for (d)(ii) = 1 out of 2

&_E,Omgﬁ.‘)y,\.a.‘..M\m\aem..@i._.“.%\?.omem‘.\.....\a‘(:\'&...&v}.e\....\\mm{% ..............

wn%&&ah+§b3$umnumb€f® .........

{21

Total mark awarded =
8 out of 14

How the candidate could have improved their answer

¢ (a) The candidate needed to copy the value of the mantissa after normalisation to the answer box.

* (c) The candidate needed to work with the given negative value for the mantissa, instead of incorrectly using the
positive value.

¢ (d)(i) The candidate needed to extend the outline given to specifically explain the problem with the number 513.

e (d)(ii) The candidate provided a general description of the alteration required to store the number accurately using
the same number of bits. To improve their answer, they could have applied this to the situation described in the

question. For example, the number of bits in the mantissa needed to be increased to 11 and the number of bits in
the exponent needed to be decreased to 5.



low

Example Candidate Response —

Example Candidate Responses — Paper 3

Examiner comments

1 Real numbers are stored in a computer system using floating-point representation with:

* 10 bits for the mantissa
* 6 bits for the exponent .
+  Two’s complement form for both the mantissa and the exponent

(a) Calculate the normalised floating-point representation of —7.25 in this system.
Show your working.

| V1.6 1d0cpe
Mantissa: Exponent® ©¢ | O VI !,']" :
3
: — . . — S vosio
ol ifefeloli[i]sTole] [ofelefalo]e] 4iqnne
. ’ ‘ K Gy o8 BV V.
Working ....... 220.1.0.01.1 LuLtuglgge.
A+ '
o0k A OR M UE AR R o
..... TR e L AR Y- 0.0.0. e b
AN L 5 S e R
AFYxBx 16 220 X EY . 2825k o.0. .l e
@
(b) Calculate the denary value of the given binary floating-point number.
Show your working.
Mantlssa Exponent '
V4 6h 2L V6 -5 aS

[ERCHERE loloio|1 Il] [eTe]r M
OQsO\\\—‘—lo

RN

)

o

15

Answer

(3]

@ The candidate correctly
converts +7.25 to binary.

Both the mantissa and the
exponent show incorrect binary
values.

€@ The candidate’s attempts at
ones complement followed by twos
complement are incorrect. They do
not use leading zeros.

Mark for (a) = 1 out of 3

@ The candidate calculates the
exponent correctly.

e The candidate moves the binary
point correctly, but the conversion

to denary is incorrect because 128
should be negative.

@ The candidate gives an
incorrect answer.

Mark for (b) = 1 out of 3

10
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Example Candidate Response - low, continued Examiner comments

. (c} The given binary floating-point number is notnormalised.

Normalise the floating-point number. Show your working.

Mantissa ) Exponent
. B % g 4 1)
folofofofofofo s [t fr] [ ]o]ofr}t]r]
512 6 12s M M;Qﬁsia g a + Exponent The candidate gives two

N l.lo_l,e.!:o,_l OMD l N  | | '9,! g‘jph | Dﬂ|‘ incorrect binary values.

9 The candidate moves the binary

.

WOTKING v point one place too far to the left.
0B BB S E L 2=
At Mark for (c) = 0 out of 3
----- b b G B 882,29 T2k
...................... L2
et ettt -

(d) The denary number 513 cannot be stored accurately as a normalised flgating-point number in
this computer-system.

(i) Explain the reason for this.

S o bovs e dedial

Mark for (d)(i) = 0 out of 3

PO
...... [3]
(ii) ‘Déscribe an altération.to the way floating-paint numbers are stored to enable this number f ’

to be stored accurately using the same total number of bits. e Both of _the Cand'qate S

........................................... v«-u*‘ﬁa LAead an ot hmsedess statements in (d) are incorrect.
Mark for (d)(ii) = 0 out of 2
Total mark awarded =

2 2 out of 14

How the candidate could have improved their answer

* The candidate needed to be able to work with both positive and negative binary values.

¢ (a) The candidate needed to ensure that any conversion to twos complement of a negative denary number resulted
in a mantissa that started with 1 rather than 0, as the first bit indicated the sign of the value stored.

¢ (b) The candidate needed to recognise that a mantissa starting with 1 needed to have a negative value.

* (c) When the candidate converted the binary value of the mantissa, they did not realise that if the first bit was 1
then the value of the mantissa must be negative. The candidate needed to ensure that the sign bit of the mantissa
did not change during the process of normalisation.

¢ (d) The candidate needed to show that they understood how floating-point binary numbers were stored.

Common mistakes candidates made in this question

e (a), (b) and (c¢) Many candidates did not annotate their working out.
* (a) and (c) Many candidates copied binary values incorrectly.
¢ (d)(i) Many candidates gave a general explanation that they did not apply to specific values given in the question.

e (d)(ii) Some candidates identified the general alteration required but did not describe how this alteration would be
carried out for the situation given in the question.

1
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Question 2

Example Candidate Response — high Examiner comments

2 (a) Describe the purpose of a user-defined data type. a o The candidate correctly
..c.\.cb.’s'.(e:..r.\\d@ﬁ...,c:.-,ﬁcs\:!e.é....ba.1.u~.s€x.....u&‘wxa...m..g\auﬂt;fwx.émﬂ ........... identifies that the new data type
e L uses existing data types.
Qro.cgmm.‘&....zxgeas....w.\é....m‘r&&ti.s},....e 9 The candidate correctly

identifies that user-defined data
types extend the flexibility of the
programming language to suit their
needs.

Mark for (a) = 2 out of 2

(21
(b) Define, using pseudocode, the following enumerated data types:
(i) Schoolbay to hold data about the days students are usually in school.

\.J.%.Q){.\QQ\.DQ»%.....(.mﬁl\d.%sé.!jm%w&‘W&&nﬁsdﬂ%.(:(\nuﬂs&‘n.ﬁ;.éaal...

DE CLrE . H] Mark for (b)(i) = 0 out of 1

(i) WeekEnd to hold data about the days that are not sghooLdays. e
DECLAYE. WeexBnd. { Seduvdnsy .. Suoday)

The candidate uses DECLARE
incorrectly in both definitions.

Mark for (b)(ii) = 0 out of 1

(c) Define, using pseudocode, the composite data type clubMeet. This will hold data about club
members that includes:

* first name and last name
+ the two days they attend:
o one on a school day
o one not on a school day.
Use the enumerated types you created in part (b).
PITYRE.. . ClunVice:.

OECLERE.. FestNome.., LosiMNonag L STRIN G oot ssessssssannees

@ The candidate correctly defines
the ClubMeet data type, using the
enumerated types from (b).

Mark for (c) = 4 out of 4

............ DECLBLE. Doz Wee kb s e
ENITYRE

41

Total mark awarded =
6 out of 8

How the candidate could have improved their answer

(a) The candidate could have specifically explained that this would extend the flexibility of the programming
language, rather than just referring to their program’s needs.

(b)(i) and (b)(ii) The candidate needed to use the word TYPE rather than DECLARE when they defined both the
data types.

(c) The candidate could have used more meaningful identifiers than Day1 and Day?2.

12
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Example Candidate Response — low

2 (a) Describe the purpose of a user-defined data type.

[ LJr‘w of . exomarsted dede.. . build.. "’b‘ ouselves. o
esst... ok orcesta. .., o

....... M .mh.v.\j....a\....w,e..v.....d.a&9......4.5pe e .8 e, modu@sj .
’

12

(b) Define, usirig pseudocoae, the following enumerated.data types:

[2

(i) $choolDay to hold data about the days students-are usually in school.
e ( Mooday , Toesday m«a«aiﬂ.l..'[}g«.gé;ﬁ,..ﬁsg&g} [
(i) WeekEnd to hold data about the days that are not school days.

\..)eetF—r\dLCSa-h»cAQ3;§ 2.0y )

{11

(c) Define, using pseudocode, the composite data type CLlubMeet. This will hold data about club
members that includes:

* first name and last name
* the two days they attend:
o one on a school day
o  one noton a school day.
. Use the enumerated types you created in part (b).
TILE....ClakMeed. 0
Fristhame.. . STRING. ..
QL astNorae.2. S TRING.
schuo\(}\&u‘.c‘:"dﬁu \ i
i b Mg J
eelkband.: CQc.L;uL&j \ G

ENpwTYCE

- 4]

Examiner comments

@ Not all user defined data types
are enumerated data types.

9 The candidate correctly
identifies that user defined data
types are new.

Mark for (a) = 1 out of 2

e TYPE is missing from the
candidate's definition.

Mark for (b)(i) = 0 out of 1

Mark for (b)(ii) = 0 out of 1

o The candidate correctly writes
the TYPE and ENTYPE lines.

e DECLARE is missing from all
items.

@ The candidate puts the data
types in brackets and they do not
match those they have already
defined.

Mark for (c) = 1 out of 4

Total mark awarded =
2 out of 8

How the candidate could have improved their answer

* (a) The candidate’s first sentence was inaccurate because not all user defined data types were enumerated. The
candidate needed to expand their description of a user defined data type to state that this would have increased

the data types available to the program.

e (b)(i) and (b)(ii) The candidate needed to include the word TYPE when they defined both the data types.
* (c) The candidate needed to include the keyword DECLARE for all items. The types for the two enumerated data

items should have matched those they defined in (b).

13




Example Candidate Response — low

2 (a) Describe the purpose of a user-defined data type.

o It ... Hy...ua.. A%MW v —
lnflwfo

(b) Define, using pseudocode, the following enumerated data types:

(i) SchoolDay to hold data about the days students are usually in school.

JECLARE.... School Doy o THTEGER
9 [1

(ii) WeekEnd to hold data about the days that are not school days.

DECLURE. . WoelEnd o IN.TECEK

........ , ; M -

(c) Define, using pseudocode, the composite data type ClubMeet. This will hold data about club
members that includes:

first namé and last name
the two days they attend:
o one on a school day
o one not on a school day.

Use the enumerated types you created in part (b).

T[/VF ClubMuk 9 ...........
CDBCLIE . Fovk Wan o STRIVE
DEe) VE.. Lot WMo ST WE. ... €
R0 LILE... dehon) Doy TVTEGER
DE.CLME. MubBnd . TUTE CER o
END.TYIE

41

Example Candidate Responses — Paper 3

Examiner comments

@ The candidate does not answer
the question.

Mark for (a) = 0 out of 2

e The candidate incorrectly uses
DECLARE. They need to use TYPE.
INTEGER is not an enumerated data
type.

Mark for (b)(i) = O out of 1

Mark for (b)(ii) = 0 out of 1

@ The candidate correctly writes
the TYPE and ENDTYPE lines.

@ The candidate correctly
declares the first name and last
name.

e These data types do not match
those the candidate defines in part

(b).
Mark for (c) = 2 out of 4

Total mark awarded =
2 out of 8

How the candidate could have improved their answer

* (a) The candidate’s answer was incorrect. They needed to provide a suitable description, for example, ‘the purpose
of a user-defined data type is to create a new data type that is not available in the programming language’.

¢ (b)(i) and (ii) The candidate needed to use the word TYPE rather than DECLARE when they defined both the data

types and they needed to include a finite list of acceptable values.

* (c) The candidate needed to make sure that the types for the two enumerated data items matched those defined in (b).

Common mistakes candidates made in this question

e (b)(i), (b)(ii) and (c) Many candidates used DECLARE instead of TYPE.
* (d) Some candidates missed out DECLARE.

* (c) Some candidates used the same identifier for the declaration as they did for the TYPE in (b)(i) and (b)(ii).
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Example Candidate Responses — Paper 3

Question 3

Example Candidate Response — high Examiner comments

3 (a) Draw one line to connect each Operating System (OS) term to:the most appropriate
description about it.

0S8 term Description

‘Usiné secondary storage to simulate X
additional main memory 0 The candidate draws the correct

lines with a ruler.

Multi-tasking

Mark for (a) = 5 out of 5

. Managing:the. processes running on
the CPU

-Paging

‘I\'/Ian’a'g'i'ng the execution of many programs
that appear to run at the same time

Interrupt handling

Locating non-contiguous bldcks of data and
. relocating them

Scheduling

Transferring control to another routine when
a service is required

e The candidate does not mention

Reading/writing-same-size blocks of data execution here.
from/to secondary storage when required

Virtual memory

The candidate uses ‘line’
instead of ‘statement’.

[5]

(b) Explain how an interpreter executes a program without producing a complete translated-
version of it é The candidate correctly

o dedocpreke. B el g e (bj e, aud..... identifies that the translator stops
SHe@s... then it onconces. g when it encounters an error.
< il oy @utinee ey ladive
Sy 5
i ' e ‘ Mark for (b) = 2 out of 4
. ‘Qt(‘)efe\f m‘:\‘)t b—'\'\ﬂ\Q ?f&qro.m i oxecutd v
o Seckecptedee does vt Predice Sepese e eScbal Bl
oV e e Paget. . eveadine  dudve  runtue.

4 Total mark awarded =
7 out of 9

How the candidate could have improved their answer

(b) The candidate needed to use the word ‘statement’ instead of ‘line’ throughout their answer as each statement was
translated and then executed if it was error free. Using the word ‘line’ in their explanation was acceptable, but not
technically accurate. The candidate needed to include ‘execution’ as well as ‘translation’ in the first sentence, as both
processes occurred. The candidate needed to state that each statement (line) was checked for errors.

15



Example Candidate Responses — Paper 3

Example Candidate Response — middle Examiner comments

3 (a) Draw one line to connect each Operating System (OS) term to the most appropriate
description.about.it.

OS term Description

Using secondary storage to simulate

f additional main memory
Multi-tasking 3 1

Managing the processes running on
the CPU

Paging

Managing the execution of-many programs
that appear to run at the same time

Interrupt handling

Locating.nonJContiguous blocks of data and

3 relocating them .

¢ @ The candidate does not connect
scheduling to the most appropriate

Transferring control to another routine when description.

a service is required
Mark for (a) = 4 out of 5

Scheduling

Virtual memory

‘Reading/writing same-size blocks of data
from/to secondary storage when required

151

(b) Explain how an interpreter executes a program without producing a complete translated

Versmnoflt ,,e(l’g[ Z'/Q”\S/af@ o /7[27 .............. /0 ............

ao c@ L 1S ab rf

@ The candidate identifies

LSJLDPS cuf& e user | 0 CQ)’[eClL E @f/Or‘ :ir;r;s.latlon of a statement (line) at a
i Drcler. zLD Confnue. flxm«h‘bi] 6¢ . plogis...
................................................... e e The candidate identifies what

happens if there is an error, but
does not mention that the statement
is executed if there is no error.

Mark for (b) = 2 out of 4

1“4

Total mark awarded =
6 out of 9

How the candidate could have improved their answer

¢ (a) The candidate needed to understand the term ‘scheduling’.

¢ (b) The candidate needed to use ‘statement’ instead of ‘line’ throughout their answer as each statement was
translated and then executed if it was error free. Using the word ‘line’ in their explanation was acceptable but not
technically accurate. They also needed to include more detail about error handling, explaining what happened if no
error was found.
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Example Candidate Responses — Paper 3

Example Candidate Response — low Examiner comments

3 (a) Draw one line to. connect each Operating System (0S) term to the most appropriate
description about it.

0OS term Description
Using secondary storage to simulate
, / additional main memory
Multi-tasking
Managing the processes running on .
the CPU' - 0 The candidate correctly
Paging matches two terms and descriptions,

‘multi-tasking’ and ‘virtual memory’.
Managing the execution -of many programs
that appear to run at the same time Mark for (a) =2outof 5

Interrupt handling _1

\Locating non-contiguous biocks of data and
rélocating them

Stheduling |

Transferring control to another routine when
[~ a service is required

Virtual memory )
Reading/writing same-size blocks of data

- from/to secondary storage when required

151

{(b) Explain how an interpreter executes a program without producing a complete translated e The candidate correctly
version ot identifies that the code is identified
line by line (statement by
statement).

e The candidate explains that the
execution of a program should be
stopped if an error is found in the
next line (statement) to be executed.

Mark for (b) = 2 out of 4

Total mark awarded =
4 out of 9

How the candidate could have improved their answer

¢ (a) The candidate needed to understand several operating system terms and learn this topic from the syllabus
more thoroughly.

¢ (b) The candidate needed to use ‘statement’ instead of ‘line’ throughout their answer as each statement was
translated and then executed if it was error free. Using the word ‘line’ in their explanation was acceptable, but not
technically accurate. The candidate needed to include more detail about error handling, explaining what happened
if no error was found.

Common mistakes candidates made in this question

¢ Some candidates did not understand the required terminology.
¢ (b) Many candidates used ‘line’ instead of ‘statement’.

* (b) Some candidates did not include all the details required for a full answer to this question. They needed to give
an explanation that included both halting the interpretation if an error was found in a statement and execution of
that statement and checking the next statement for errors.

17



Example Candidate Responses — Paper 3

Question 4

Example Candidate Response — high Examiner comments

4 (a) (i) Explain why Reverse Polish Notation (RPN)is used to carry 6ut the évaluation of
expressions. .

......!}“‘L‘“""\b“ o ?\n;a‘x avd Vie \ecja
T vedation. ... s \eber wedocrbed E’ﬁ

Suneaing
frmPteer. . Se.. Peovidts e Gmimiearbion Wit 2]
Vo eiblesare v .
(ii) Identify, with. reasons, a data stricture that could be used to evaluate an expression
in RPN : i

e A 'S—l-é.ﬁ( s Vst _ wed  han c\ral.uy}hj e
. oPec“«m(:jb Canm e Pu;\,wl b e od Pap{:e,ﬁ‘

Wen ,O?Cocoa Z...a60ivs -2

(b) Write the infix expression in RPN.
o {fa=b) * ta+& /7
7 @& ab-acax )

¢

1

gc) Write the RPN:expression as an'infix expression.

ab/4*ab+ =

O (are) k. = (ath

(d) Evaluate the RPN expression:

e ab+cd//

wherea = 17, b = 3, ¢ = 48 and d = 12.

i

.Show your working.

]
B S .
\tl20120 12

a The candidate states ‘easier
to convert’ and ‘better understood’
but does not apply them to the
evaluation of the expression.

Mark for (a)(i) = 0 out of 2
@ The candidate identifies a

suitable data structure and provides
a supporting reason.

Mark for (a)(ii) = 2 out of 2

@ The candidate gives a correct
answer.

Mark for (b) = 1 out of 1

@ The candidate gives a correct
answer.

Mark for (c) = 1 out of 1

@ The candidate shows their
working using a stack.

Mark for (d) = 2 out of 2

Total mark awarded =
6 out of 8

How the candidate could have improved their answer

(a)(i) The candidate needed to consider the evaluation of the expression in their answer, for example, ‘evaluation is

easier because there is no need to use brackets or rules of precedence’.

18



Example Candidate Responses — Paper 3

Example Candidate Response — middle Examiner comments

4 (a) (i) Explain ‘why_ Reverse Polish Notation (RPN) is used to carry out the evaluation of
expressions.
b(“&b; xe..easse.r....k u\f}d.@.ls.&n.ﬂl&..ak ..... rd.m.t';'ﬂsau
a el do.righdis . poth.afa nomber. peg f..an
e Bpression. (oalielyo RIN et ). and. .ok dhe. Leswl s ..
.......... 2
(if) Identify, with reasons, a data strdcture that could be used to evaluate an expression
in RPN,
JX A TTT TN L P PN
) e_j?m,i-: and....ot0cee.n. <\' do.. vndesband. fhen. io..a
..... notemal.... foron... 430t ond o5 3P0 et A s
[2]
(b) Write the infix expression in RPN, .
A L A A
ab - ac +7/*0 rsesssspossressessstessoen
[11
(c) Wirite the RPN expression as an infix expression.
ab/4*ab+ -
_________ alb * 4 = (a.+5h)
> Q)
M
(d) Evaluaté the RPN éxpression:
“ab+cd// (Cec ’o)/(c/o\> W
wherea = 17, b ='3, ¢ = 48 and d = 12. : - . %q&g ’
Show.your working. :
CR VD —
e $02D L 8800202020 LA
5 TR SIS 77 AT S
[2]

The candidate identifies one
reason with extra information about
how the evaluation is carried out.

Mark for (a)(i) = 1 out of 2

9 The candidate’s data structure
is incorrect.

Mark for (a)(ii) = 0 out of 2

e The candidate needed to
include the * before the 7.

Mark for (b) = 0 out of 1

o The candidate correctly writes
the infix expression.

Mark for (c) = 1 out of 1

e The candidate’s structure and
substitution are correct.

Mark for (d) = 2 out of 2

Total mark awarded =
4 out of 8

How the candidate could have improved their answer

¢ (a)(i) The candidate needed to add another reason why RPN was used for the evaluation of the expression, not

explain how RPN was used for the evaluation of the expression.

e (a)(ii) The candidate needed to identify a suitable data structure. An online calculator was not a recognised data

structure.

¢ (b) The candidate needed to include the * after + to ensure a correct conversion to infix.
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Example Candidate Response — low

4 ) (i) ‘Explain why Reverse Polish Notation (RPN) is used to carry out the evaluation of

off.‘ff,eff'.‘.’fs (7/%5 b e Siphd ppen....

........ a'//#/

(ii) Identify, with. reasons, a data structure that could be used to evaluate an expression

in RPN. 6 {_ad@ e

ﬂs‘;i;ggéfbgjfzr/M&Q@g@@rg%wg/

(b) Write tﬁe infix expression in RPN.

............................... . 2l
AR +8C -BA -BC /T
(@/c-/é) &<y

O p

{c) Write the RPN expression as an infix expression.

(a-b) *(a+c) /7

ab/4*ab+ -

H " R K|

(d) Evaluate the RPN expression: ' 0 L‘ . >§]-?
ab+cd// 2 lqg— /';)/é/
wherea = 17, b = 3, ¢ = 48 and d = 12. )y
Show your working. “/L\((

[+ S WA,
B L _
FoIF200 40 5 —

Example Candidate Responses — Paper 3

Examiner comments

o The candidate does not give a
reason.

Mark for (a)(i) = 0 out of 2

The candidate identifies a
suitable data structure and needs to
apply it to RPN.

Mark for (a)(ii) = 1 out of 2

@ Both of the candidate’s
expressions are incomplete.

Mark for (b) = 0 out of 1

Mark for (c) = 0 out of 1

The candidate correctly
provides working and substitution
using a stack.

Mark for (d) = 2 out of 2

Total mark awarded =
3 outof8

How the candidate could have improved their answer

¢ (a)(i) The candidate needed to include reasons why RPN was used for the evaluation of the expression.

¢ (b) The candidate needed to write a complete infix expression.
¢ (c) The candidate needed to write a complete infix expression.

Common mistakes candidates made in this question

¢ (a)(i) Many candidates explained how RPN was used instead of explaining why RPN was used.
¢ (a)(i) Some candidates did not give a reason why the benefit they identified was a benefit. The explanation needed

to include a reason about why it was a benefit.
¢ (b) and (c) Some candidates did not include the whole expression.
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Example Candidate Responses — Paper 3

Question 5

Example Candidate Response — high

Examiner comments

5 (a) Calculate the shortest distance betweén the base and-each of the other towns in the diagram
using Dijkstra’s algorithm.

Show your working and write your answers in the table provided.

Working
. LLV\V/S."\::D ('Tdy/l ,’Ta)él '3;0/3 ow»\‘r 1:545 ‘)'Fa/m«)

“Tboni — S\m/&c_rt gecthy r}hrou,\,\ Toum 3= 2

Sown 2 = deedert etz 5

Tlowny > Shedat gtz 2, 2] _

Tewmltm Jetet pecthn . dhemb Btz 9

TBune =2 ohedat Pedh ’Hthot«j\-‘ Tawnz~= 3

ol Shecdad pedb. Moy b ez, 10

Answers

" Town 1 Town 2 Town 3 Town 4 Town 5 Town 6

50 510 |G |5 [0®

5]

@ The candidate updates some
nodes correctly.

@ The candidate calculates more
than one path correctly.

€@ The candidate’s answers for the
first five towns are correct.

Mark for (a) = 4 out of 5

21




Example Candidate Responses — Paper 3

Example Candidate Response - high, continued Examiner comments

(b) Explain the use of graphs to aid Artificial Intelligence (Al).
o They (radc Cre/qmww mdos Ao Calealade Pee e bl e
PV ambuaﬂa%ﬁ—)&@t vawisd | vedleles crs

B 1 S —
o lomgn, "prow\ (‘ch\‘au.‘ Kevarios. e naneve @g’rfafw.m&c_

S

o The candidate explains the use
of graphs in machine learning.

Mark for (b) = 3 out of 3

Total mark awarded =
7 out of 8

How the candidate could have improved their answer

(a) The candidate needed to show evidence for initialisation of the distance for the base node to zero, or give evidence
of the total distance travelled to visit other nodes for all the routes available. They also needed to correctly calculate

the shortest distance to town 6.
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Example Candidate Responses — Paper 3

Example Candidate Response — middle Examiner comments

5 (a) Calculate the shortest distance between theibase and-each:of the other towns in the diagram
using Dijkstra’s algorfithm.

Show your working and write your answers in the table provided.

Working ...... Town. L [/. . Tﬂwﬂi S / .
S i A+4013 28
A WALAL3E0.
TMM\ e hef ‘ Town o0 el =6
27 @ 230 @ The candidate calculates
Thisn o d ot Tt ol multiple routes for each town.
el Mo 4> ) bun .. $ts - .
) 2§ h
_______ etz -
Answers
Town 1 Town2 | Town3 Town 4 Town 5 'Town 6
g s L g 10 2 : @ The candidate provides
- 51 correct answers for all the shortest
MWL HGT BTV = LU0 [ L] ............. distances.

Mark for (a) = 4 out of 5

K]
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Example Candidate Responses — Paper 3

Example Candidate Response — middle, continued Examiner comments

(b) Explain the use of graphs to aid Artificial ntelligence (Al). .
cltitih ... M Sty .of.. ot st S gil..
9 W ok st o shand- b M?MW&{/M&&QMM ......
#hwkmwwmm,w%%mwwm

andh M M/L JWW’!JML “””j lo wfmm I -Lu%

i

........ _ i3]

e The candidate identifies
possible relationships.

Mark for (b) = 1 out of 3

Total mark awarded =
5outof 8

How the candidate could have improved their answer

* (a) The candidate needed to show evidence for initialisation of the distance for the base node to zero and give
evidence of the total distance travelled to visit other nodes for all the routes available.

¢ (b) The candidate needed to give a more in-depth explanation and refer to algorithms and methods.
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Example Candidate Responses — Paper 3

Example Candidate Response — low

5

(a) Calculate the shortest distance between the‘base-and each of the-other towns in the.diagram
using Dijkstra’s algorithm. .

Show your working and write your answers in the table provided.

Working ... Bese Ao Town—. 1 -\Mw()\ Yoo\

voer\ A TR ST - o WU VE S A POl '&;() oot 0%e 4G wavte.

Mo AL

Answers 9

Town 1 Town 2 Town 3 Town 4 Town5 | Towné

4 5 L rae L4y | 224G

151

Examiner comments

o The candidate identifies two
different routes.

@ Town 1 shows an incorrect
value and the candidate’s
calculations for towns 4, 5 and 6 are
incomplete.

Mark for (a) = 2 out of 5
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Example Candidate Response - low, continued

(b) Explain the use-of graphs to aid Artificial intelligence (Al):

O g

..... 2'\\ns e dton—a, X g,:l" ST ndk cadis y—a, &
e = . A NN 220 S Heimeds Ty AT
........ s (U 2 W Sy

Example Candidate Responses — Paper 3

Examiner comments

@ The candidate describes but
does not explain.

Mark for (b) = 0 out of 3

Total mark awarded =
2 out of 8

How the candidate could have improved their answer

¢ (a) The candidate needed to show evidence for initialisation of the distance for the base node to zero and give
evidence of the total distance travelled to visit other nodes for all the routes available. They also needed to

complete the calculations for all the town distances.

¢ (b) The candidate needed to refer to algorithms and methods in their explanation instead of the brief description

they included.

Common mistakes candidates made in this question

¢ (a) Some candidates did not use the diagram to show the routes with the nodes visited in 5.
¢ (a) Some candidates only included the shortest routes for each town.

¢ (a) Some candidates did not show their working on or below the diagram.

* (b) Many candidates did not use Artificial Intelligence (Al) terminology in their answers.
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Example Candidate Responses — Paper 3

Question 6

Example Candidate Response — high Examiner comments

6  Give two benefits and two drawbacks of packet switching.
Benefit 1 Q«c‘@h do wot have dn b teavsnibled d oefec
(1 YOI R

jo

Benefit2 ... Dackeh  (an Yo wcted g Snedion attecding
1 U —

o The candidate gives a benefit.

Drawback 1 ... W¢laxy .10 LESieliny \Dacxﬁr. Ty ywh—w-‘)esfm

. , 9 The candidate gives one
Drawback 2 \?adci:( G e Lok on e sy drawback if both answers are read
together.

[4]

Total mark awarded =
2 out of 4

How the candidate could have improved their answer

The candidate needed to clearly identify each benefit or drawback as well as how packet switching provided this. They
could have combined drawback 1 and drawback 2 to give one acceptable answer and then identify another drawback,
for example ‘requires complex protocols for delivery’.
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Example Candidate Responses — Paper 3

Example Candidate Response — middle Examiner comments

6 Give two benefits and two drawbacks of packet switching.

Benefit 1 i oogdla .. 6. Sena. doco sloneita. vitme k. et

Q. oevsie - | @ The candidate does not identify
any benefits.

Benefit 2 mgmﬁ§mrs%m@%ow%me«wﬂ\ﬂam¥%§m
eyef‘&‘(\wv-(«) 1S 35 NSRS teeres Crrereerresr e eaen e areeneens

Drawback 1 I0r€LBerenss. .. Lot .. MGEAR ittt eere et sss e e ses s esssessss s sessessnssssanen

Drawback 2 ‘Sqmgh.....@gs;.x.cm&..mé.cgz,\:..l.qu..m.éh...mex ...... VRACAATARIY. ot

o SeSRneiann..... ). , e ‘ @ The candidate identifies one
1 drawback.

Total mark awarded =
1 out of 4

How the candidate could have improved their answer

The candidate needed to clearly identify each benefit or drawback as well as how packet switching provided this.
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Example Candidate Responses — Paper 3

Example Candidate Response — low

6

Give two benefits and two drawbacks of packet switching.

Benefit 1

MC/KQ f 2.

Bsing . op it Lot 42 o

[y ’ [
q. Janckon.. s

[ 1 Y- HM .......... : C/WJ

Benefit 2

19774 el 0,?:.}‘ Loknd

) /fh Nl LA K

/
\'\/ﬂ-(a/) e ‘10 i i /MM/UM

Drawback 2

ifthone...i

W ....... il T
o W&w;fi\ o

Examiner comments

The candidate only makes
general statements.

Total mark awarded =
0 out of 4

How the candidate could have improved their answer

The candidate needed to clearly identify each benefit and drawback and state how packet switching achieved this.
For example, ‘the benefit is completeness of message because missing packets can be easily detected and a re-send

request sent so the message arrives complete’.

Common mistakes candidates made in this question

* Many candidates did not state the benefit and how packet switching achieved it.
¢ Many candidates did not state the drawback and identify the problem caused by packet switching.
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Example Candidate Responses — Paper 3

Question 7

Example Candidate Response — high Examiner comments

7  The diagram shows a logic circuit.

A —y P
ﬂ— Y
B - A ) :

(a) Complete the truth table for the given logic circuit. Show your working.

Inbuts Working space Outputs -
A B c | P | a R Y z
0 0 0 o o 0 O |ro--|
0 0 1 ©| o] o R Ne) o a The candidate is correct and
0 1 0 ! 0| o ) o they make their corrections clearly.
0 1 til ol 1o Mark for (a) = 3 out of 3
1 0 0 1 o o )
1 0 1 [ 0 g1l o0 | &,
1 1 0 0 \ Q o) \
1 1 1|0 A0 # L] -

(b) State the name of the logic circuit.

CAl addec 0]
_ ‘ e 9 The candidate gives a correct
(c) Write the Boolean expressions for the two outputs Y and Z in the truth table as
sum-of-products and state the purpose of each output. answer.

Y= ARC + ARC + N-E.Cx  ABRC.
Purpose Samy
7= AR C T ABCcx A-B.C + ARC

Purpose ... oy, st o
P W)

................................ Mark for (b) = 1 out of 1

9 The 2nd, 3rd and 4th terms are
correct.

4] @ The candidate gives the correct
answers.

Mark for (c) = 3 out of 4

Total mark awarded =
7 out of 8

How the candidate could have improved their answer

¢ The candidate clearly crossed out and replaced their mistakes.
¢ The candidate could have noticed that one term appeared in both expressions, which indicated an error.
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Example Candidate Responses — Paper 3

Example Candidate Response — middle Examiner comments

7  The diagram shows a logic circuit.

s
Y
B 7

amls

(a) Complete the truth table for the given logic circuit. Show your working.

) Inputs Working space Outputs
A B c | P Q R | Y z
0 0 0 17 D o /] 0
0 0 1 o] o | o 6{ 0 The candidate completes the
0 1 0o | 7 7 g { 0 truth table correctly.
0 1 1 / v | {2 / _
; 5 o 7 7 5 7 p Mark for (a) = 3 out of 3
1 0 1 1 o | 71 1o |7
1 1 oo | r e |7
1 1 1 /] 17

o | 7 717 -

(b) State the name of the logic circuit.
Fall. aolder: e 1] Mark for (b) = 1 out of 1

(c) Write the Boolean expressions for the two outputs Y and Z in the truth table as
sum-of-products and state the purpose of each output.

ve LA.XOR B) X208 < @) @ The candidate writes a Boolean
expression that is not a sum-of-

Purpose 5 “u.m

2= (A.X0R.B).AND.C..08 CAAVD B) products.
Purpose .. &rrd.... L.0.4L) @ The candidate writes a Boolean
7 [41 expression that is not a sum-of-
products.

Mark for (c) = 2 out of 4

Total mark awarded =
6 out of 8

How the candidate could have improved their answer

(c) The candidate needed to write the Boolean expressions as a sum-of-products from the truth table completed in (a).
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Example Candidate Responses — Paper 3

Example Candidate Response — low Examiner comments

7  The diagram shows.a:logic circuit.

1y
A _..—\DP_
1
B 7 o

€@ The candidate writes 0 for every
output from R. The fourth and sixth

(a) Complete the truth table for the given logic circuit. Show your working. .
rows of Z are incorrect because of

Alnpvtits 3 Working space Outputs this.
A B | C P Q R Y z _
5 o o o oclololo Mark for (a) = 1 out of 3
ool rto o014 )0 @ The candidate gives the correct
o | 1 014 ]0 10 |40 a logic circuit.
0 1 140101010
1 0 old1lolol4]0O Mark for (b) = 1 out of 1
1 0 1
y ] 5 éL g 8 8 :(i e The candidate writes a Boolean
; K CEERE R el expression that is not a sum-of-

& products.
(b) State the name of the logic circuit.

Ll - Aol ole

@ The candidate writes a Boolean
expression that includes an incorrect

{c) Write the Boolean expressions for the two outputs Y and Z in the truth table as input P
sum-of-praducts-and-state-the-purpose of each output. '
v= (A +@B) + O O @ Both purposes are incorrect
Purpose .24 % M the W W ______ and would not be the outputs from
4o (. p) £ (A B)Q the full adder that the candidate

Purpose 7{9’ W&/ W -/gm M 7[’ e identifies in (b).

..... Mark for (c) = 0 out of 4

Total mark awarded =
2 out of 8

How the candidate could have improved their answer
¢ (a) The candidate needed to give two outputs for R in the rows where C and P were 1 as this was an AND gate.
This caused an error in the fourth and sixth rows of the output Z which needed to be 1 not 0.

* (c) The candidate needed to write the Boolean expressions as a sum-of-products from the truth table completed in
(a). Only inputs A, B and C could be used in the Boolean expression.

* The purposes of outputs in (¢) needed to be relevant to the logic circuit identified in (b), a full-adder, which only had
two purposes: to find sum and carry.

Common mistakes candidates made in this question

* (c) Many candidates did not write the expressions as a sum-of-products.
* (c) Many candidates did not check that the purpose of the circuit matched the name given in (b).
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Example Candidate Responses — Paper 3

Question 8

Example Candidate Response — high

Examiner comments

8

(a) State two factors that may affect the performance of a sorting algorithm.

o How Soru —)‘mz Viodecce ¥ e

.-((\/ln 5]I'ZQ u’g "H’LQ Qyray  or CQL"}@ \eesna . Jotded
J )

(b) The given algorithm is a simple bubble sort that afranges a set of scores stored in a one-
dimensional array into descending order, and -orders the corresponding students’ names
stored into a two-dimensional array in the same order as the scores. Alf the arrays are indexed
from 1.

(21

The contents of both arrays after sorting are shown.

Name
Score
1 2
1 98 1 Smithfield Tom
2 a7 | 2 Johnson Jane
248 |5 248 | Peters Jade
2493 249 | Allen John

YearSize <— 249
Flag <— TRUE
WHILE Flag = TRUE
Flag <— FALSE
FOR Studept <— 1 TO YearSize - 1
IF Score[Student] < Score[Student + 1] THEN
Templ <— Score[Student)
Temp2 <— Name [Student,1]
Temp3 <— Name[Student,2]
Score[Student] <— Score[Student + 1]
i\lame[student,l] <— Name([Student + 1,1]
Name [Student,2] ¢— Name[Student + .1,2]
Score[Student + 1] <— Templ
Name [Student + 1,1] <— Temp2
Name [Student + 1,2] <— Temp3
Flag <— TRUE
ENDIF
NEXT Student
ENDWHILE

o The candidate identifies two
factors.

Mark for (a) = 2 out of 2
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Example Candidate Responses — Paper 3

Example Candidate Response - high, continued Examiner comments

Write:an algorithm, using pseudocode, that will perform the same task using an insertion sort.

/
e %CM\«J $~L eqr_f ‘éa

‘iearﬂ"u S~ ﬂa
P(yg_ «— TRYE
AHTLE Flas =TROE !
tﬁtgij calse
CoR. Stuelent €7 1.2, Yocrizez . @).. @ The program cycles through the
AE ScorefShednty < Scace )iqwd%ﬁl\wﬁm whole year group. A check is made

 Rap | e Scoce [kdot Tt 1\ ) on the next score in the array using

— . an IF statement and the program
lcw e rrame | SYeductrl, |
& N L . temporarily stores the score and the

------- corresponding names. If they are
SMCFMt A ) 8 D%@Mtj ........................ out of order, it swaps the elements.

N e I e ot ) l\(e— N g (Y—\wﬂmt - Mark for (b) = 4 out of 6

Neme oot H 1) e Move [ idudint 2N
Scare[Stdbt. ) o
o [t ) 1] €= Tenp

Newns [ Sdudbct, 2 Y e—e0,03 Total mark awarded =
Chie oyl R 6 6 out of 8
EnD3
NEXT 5
T OWHTLE

How the candidate could have improved their answer

(b) The candidate needed to check for all elements in the Score array with a lower score not just the adjacent
element. They needed to replace the TF statement with a WHILE... DO loop that checked for every element with a lower
score and kept on swapping until the appropriate position in the Score and Name arrays were found for the elements
being checked.
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Example Candidate Responses — Paper 3

Example Candidate Response — middle Examiner comments

8 (a) State two factors that may affect the performance of a sorting algorithm.

Uvﬂ\p[‘p(garj [91,‘2( Cdaxes...onend: &\me\ .

medbple.verviables _C»\a\tps'v hrone )o

€@ The candidate makes
statements that do not specifically

2 apply to sorting an array.
(b) The giveh algorithm is a simple bubble sort that arranges a set of scores stored in a one- -
dimensional array into descending order,. and orders the corresponding students’ names Mark for (a) 0 out of 2

stored into a two-dimensional array in the same order as the scores. All the arrays are indexed
from 1.

The contents of both arrays after sorting are shown.

Name
Score
_ N
1 98 1 Smithfield Tom
2 97 ' s 2 Johnson Jane
248 | 5 248 | Peters | Jade
249 | 3 ’ 249 | Allen John

YearSize <— 249
Flag <— TRUE
WHILE Flag = TRUE
Flag <— FALSE o
FOR Student <— 1 TO YearSize - 1
' IF Score[Student] < Score[Student + 1] THEN
Templ <— Score(Student]
Temp2 <— Name[Student,1]
Temp3 <— Name [Student,2]
Score[Student] <— Score[Student + 1]
Name [Student,1] <«— Name[Student + 1,1]
Name [Student,2] <— Name[Student + 1,2]
Score[Student + 1] “— Templ ’
Name [Student + 1,1} <— Temp2
Name [Student + 1,2] <— Temp3
i+ ottt Plag 4= TRUE ‘¢
ENDIF
NEXT Student
ENDWHILE
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Example Candidate Responses — Paper 3

Example Candidate Response — middle, continued Examiner comments

Write an.algorithm, using pseudocode, that will perform the same task using an insertion sort.
forMe e Lo ke 248 dibe- N
AT j@"‘ L.ka (2449.=n “J)e .
if...Ccoceluld < SeeteLyxtd Ehen

s seore Lyl

£ ST Neme Dyt

42 e Noame (u.'z D
3
S(uveC‘\j €8 1.8 Eﬁfl’]

Nnmcc.},ﬂ €~ Nome Ej "0

N.awm.t rj,'n_j & . Noarae C:\)"“I,Q—B
Sore Cgeied 3 S0 Be ket

Nena.€ C‘\fr o [,_j R ot

) Namt TS 1—/‘,23 - £3
end f

next. .4
=J

next..m

@ The candidate’s outer loop
should stop one iteration sooner.

@ The candidate’s inner loop
should examine the last score.

@ The candidate attempts a
bubble sort, not an insertion sort.

Mark for (b) = 3 out of 6

Total mark awarded =
3 out of 8

How the candidate could have improved their answer

¢ (a) The candidate needed to ensure that the factors they gave applied to the use of a sorting algorithm rather than
programming in general. For example, the answer ‘unnecessary loops’ was too vague, a better answer would have
been ‘the efficiency of the sorting algorithm ensuring there are no unnecessary loops.’

(b) The candidate needed to ensure that none of the array indexes went out of range by decreasing the limit of

the outer loop to Classsize -1. The candidate needed to check for all elements in the Score array with a lower
score not just the adjacent element. The IF statement needed to be replaced by a WHILE... DO loop that checked
for every element with a lower score and kept on swapping until the appropriate position in the Score and Name

arrays were found for the elements being checked.
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Example Candidate Responses — Paper 3

Example Candidate Response — low Examiner comments

8 (a) State two factors that may affect the performance of a sorting.algorithm.

a1

..... The candidate only states one

7
Nimher n«!, U (J/{\nm:% correct factor.

- 2 Mark for (a) = 1 out of 2

(b) The given algorithm is a simple bubble sort that arranges a set of scores stored in a one-
dimensional array into descending order, and orders the corresponding students’ names
stored into a two-dimensional array in the same order as the scores. All the arrays are indexed
from 1.

The contents of both arrays after sorting are shown.

Name
Score
. ‘ 1 , 2
98 i 1 | Smithfield Tom
2 97 2 Johnson “Jane
248 | 5 248 | Peters. Jade
249 |3 249 [ Allen John

YearSize <— 249
Flag < TRUE
WHILE Flag = TRUE
Flag «— FALSE
FOR Student «— 1 TO YearSize - 1
IF Score[Student] < Score[Student + 1] THEN
Templ <— Score[Student]
Temp2 <— Name [Student, 1]
Temp3 <— Name [Student, 2]
Score[Student] <— Score[Student + 1]
Name [Student, 1] < Name{Student + 1,1]
Name [Student, 2] <— Name[Student + 1,2]
Score[Student + 1] <— Templ
Name [Student + 1,1] <— Temp2
Name [Student + 1,2] <— Temp3
Flag <— TRUE o
ENDIF
NEXT Student
ENDWHILE
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Example Candidate Response —

barSize 149

low, continued

Write.an algorithm, using pseudocode, that will perform the same task using-an insertion sort.

Flag.e. [RUS

_WHITE Hag = TRUE

H)Qghdenjé——l}"

YearSize = ©

©..O£01h SCore [ Studlen

FI<Scove [Shudent TN

_______ TMSERT. Seach S, [Shudent ] S(oefShude ]

Example Candidate Responses — Paper 3

Examiner comments

9 The algorithm correctly loops
through the whole year group.

e The candidate writes an
incomplete algorithm that does not
include statements for sorting.

o The candidate does not include
IF.

Mark for (b) = 1 out of 6

Total mark awarded =
2 out of 8

How the candidate could have improved their answer

¢ (a) All the factors the candidate gave needed to apply to the use of a sorting algorithm rather than programming in
general. Their answer ‘number of variables’ was incorrect and instead they could have said ‘number of data items

to be sorted’.

¢ (b) The candidate needed to write a complete algorithm. Their comparison was incomplete and needed to be
replaced by a WHILE... DO loop that checked for every element with a lower score and kept on swapping until the
appropriate position in the Score and Name arrays were found for the elements being checked.

Common mistakes candidates made in this question

¢ (a) Many candidates stated factors that affected all algorithms, not specifically sorting algorithms.
* (b) Some candidates did not check if the indexes of the array elements would go out of range when coding loops.
* (b) Some candidates wrote a bubble sort rather than an insertion sort.
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Example Candidate Responses — Paper 3

Question 9

Example Candidate Response — high Examiner comments

9 (a) Describe whatis meant by an imperative (procedural) programming language.
- .mw.awmm...u&u...\a\u&...ﬁ....Sk\qw...pm%m\m...\am..+°...c&.<’-?...aa....
4.\-9&.&3.‘......{..%:\yg....\')m.%‘(m.flfﬁimﬁ‘\w\smmm..:\?...‘a.mp.\%. oS
o T erampies inoknd®. B NRINET.  figteen.. PoSent.g.p oSSemblpy. Nnguag
[2

(b) Describe what is meant by a declarative programming language.

- uShéoe&\«\‘\‘\mw%h&Mw?fn%ww«\/\swm\mqu&%m

9« \fssr;v:...P&Me.s...:g-:-.m@mm...%dx...m\mél...que»?e& eeeteraita et s st es e st sts s tessansseeae

(c) Identify the programming.paradigm for each.of these program code examples.

Program code example : Programming-paradigm

male (john) . Lo claroive ~—Poers—
female (ethel) .

parent (john, ethel).
FOR Counter = 1 TO 20

X = X * Counter ‘vw?znxﬁvﬁ FEV--E =
NEXT Counter

Start: LDD Counter )
INC ACC . Y Qe MV <pEEmRSSTT e
STO Counter

public class Vehicle ) )

{

private speed;
public Vehicle() | T Pereaive =-SRSS
¢ ) .

speed = 0;
}

[

0 The candidate gives examples
that are not asked for in the question
and does not describe what they
mean.

Mark for (a) = 0 out of 2

@ The candidate gives facts and
rules as a description.

Mark for (b) = 1 out of 2

@ The candidate identifies four
paradigms.

Mark for (c) = 4 out of 4

Total mark awarded =
5outof 8

How the candidate could have improved their answer

¢ (a) The candidate needed to make some statements about an imperative programming language rather than the
user of the program or examples of names of imperative programming languages.

¢ (b) The candidate needed to make some statements about a declarative programming language rather than the
user of the program or an example of a name of a declarative programming language. They were awarded one

mark for using facts and rules.

(c) The candidate identified all programming paradigms which was an acceptable answer, as imperative includes

other programming paradigms such as low-level and object-oriented. A better answer would have included low-

level as the third answer and object-oriented as the fourth answer.
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Example Candidate Responses — Paper 3

Example Candidate Response — middle Examiner comments

9. (a) Describe what is meant.by an imperative (procedural).programming language.
. o 1 M‘@a_vv_‘:\i‘\u_ i<, U\e ey 5\.\\@ ey

Ao ACILY S S v PO \perys Y

camanert, -

PRSCSRN Y

Yoneve | oy Ao

OS2 A ot M A e e
ER ) a Q \ 4] o

{21
(b) -Describe-what is meant by a declarative programming language.

DeecNawe S \ﬂ/\\n:)\, N N ub;.uI Xe.
Teede Ao Adealexe N gelo \abffm

/‘\’L\w\—\o&«sukrz‘foée—ok@seb\f\"*q(
9 : . [2]

. (c) Identify the programming paradigm for each of these program code examples.

VLex

_Programcode example ' Prdgramming paradigm '

male (john) .
female (ethel) .
| parent (john, ethel).

WLQI—W

FOR Counter = 1 TO 20

X = X * Counter ooy e

NEXT Counter

Start: LDD C_.ou_r.xter

INC ACC ’ T A\
STO Counter : Hr et
public class Vehicle
{
private speed; n s At

public Vehicle ()
{

speed = 0;
}

“

@ The candidate implies that
programming statements are
executed in the order given.

Mark for (a) = 1 out of 2

@ The candidate gives information
about the user, not the programming
language.

Mark for (b) = 0 out of 2

@ The candidate identifies
acceptable paradigms apart from
the loop.

Mark for (c) = 3 out of 4

Total mark awarded =
4 out of 8

How the candidate could have improved their answer

¢ (a) The candidate needed to give more information about an imperative programming language.
¢ (b) The candidate needed to make some statements about a declarative programming language rather than the

user of the program.

* (c) The candidate identified all programming paradigms which was an acceptable answer, as imperative includes
other programming paradigms such as low-level and object-oriented. A better answer would have included low-
level as the third answer and object-oriented as the fourth answer. Identification of the second paradigm should

have been procedural not the programming concept of looping.
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Example Candidate Responses — Paper 3

Example Candidate Response — low

9

Pioce.dures, il

Pmcympa e 3

(a) Describe what is meant by an imperative (procedural) programming language.

Examiner comments

melie..

(,c«\sfe At contedns:, owlbn

Uses B Ten

pe = G o0

@ The candidate repeats the
question in their answer.

i}t e Sasiel . .. @

[y 3

N 2 Mark for (a) = 0 out of 2

. (“Pw‘grcmm‘{\ﬁ

(b) Describe what is meant by a declarative programming language. !

incorrect answer. Variables are not

b;j:ﬂﬂ-e et dedleres
Vordr e b3 & Hef ux@ég y hadt @ @ The candidate gives an

1,

[

used in a declarative programming
[2]

.
s

(c) lIdentify the programming paradigm for each of these program codé exarﬁples.

language.
Mark for (b) = 0 out of 2

Lo

Program code example

" Programming paradigm

malekjohn).
female (ethel) . .
parent (john, ethel).

]

Pfo\‘gg

FOR Counter = 1 TO 20
X = X * Counter

NEXT Counter @

[osf

'

LDD Counter
INC ACC
STO Counéer

Start:

@ The final two programming
paradigms the candidate gives are

public class Vehicle
{
private speed;
public Vehicle()
{
speed = 0;
}

Oyect oy ories?

correct.

PZ@WC) Mark for (c) = 2 out of 4

[41 Total mark awarded =

2 out of 8

How the candidate could have improved their answer

the question.

(a) The candidate needed to give some information about an imperative programming language that did not repeat

(b) The candidate needed to give some correct statements about a declarative programming language. Their

answer was incorrect because variables are not used in a declarative programming language.

(c) The candidate identified the last two programming paradigms correctly. Their identification of the first paradigm

should have been declarative, not the name of a declarative programming language. Their identification of the
second paradigm should have been procedural, not the programming concept of looping.

Common mistakes candidates made in this question

(a) and (b) Some candidates wrote about users rather than the specific programming languages.
(a), (b) and (c) Some candidates stated the names of programming languages.
(c) Some candidates gave a programming concept, ‘looping’ or ‘iteration’, for some of the programming paradigms.
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